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QUESTION 1

A customer has several clusters of Aruba 325 Instant APs. The customer is happy with the performance of the current
APs, but would like to add a Mobility Controller (MC).

What should the architect propose?

A. the purchase of Universal APs that are the same modes as the current APs.

B. Aruba ClearPass to onboard the APs as campus APs in the new MC-based deployment
C. conversion of the existing Instant APs to campus APs (CAPSs)

D. a Virtual Mobility Controller (VMC) which can be licensed to control Instant APs

Correct Answer: D

QUESTION 2

Which guidelines should an architect use to determine how many AirWave servers to recommend?

A. One server should be deployed on every subnet with an infrastructure device.

B. One server is recommended for the base features and one server each for add-on features such as Clarity.
C. One server should be dedicated to the wired infrastructure and one server to the wireless infrastructure.

D. One server should monitor and manage up to about 4,000 infrastructure devices.

Correct Answer: A

QUESTION 3

An architect needs to deliver an upgrade to an 802.11ac-based solution for a customer. The customer requires an active
site survey for the new deployment.

Which deliverable should the architect provide to the customer?

A. a heat map with proposed AP locations and actual tested coverage

B. a heat map with existing AP locations and actual tested coverage

C. a heat map with sources of RF interface, both 802.11 and non-802.11
D. the heat map with proposed AP locations and predictive coverage

Correct Answer: C

QUESTION 4
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The customer has an office environment with users who have laptops that can connect with wired or wireless. Users
also bring one or two of their own devices. An architect creates a proposal with Aruba AP325s, 7210 Mobility Controllers
(MCs), a Mobility Master (MM), and Aruba 2930M switches at the access layer to support the laptops and APs.

The architect plans to recommend 802.1X authentication without tunneled node on Aruba 2930M switch ports that
connect to laptops.

What is one advantage of this form of authentication?

A. ensures that Aruba firewall policies apply to wired user traffic.

B. prevents users from connection attempts with more than three devices

C. enables user access control and ensures only authorized users connect.

D. provides a second layer of protection for wireless users at the internal perimeter

Correct Answer: C

QUESTION 5

Refer to the exhibit. Exhibit 1.
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Exhibit 2.
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Exhibit 1 shows the logical plan, and Exhibit 2 shows the BOM that the administrator has made in Iris. What is missing
from the IRIS BOM?

A. stacking modules and cables

B. stacking licenses

C. 10 GbE direct attach cables

D. an uplink module for one of the switches

Correct Answer: C
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